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At e T 3T R 7 999 x abe = def132 T fa=me $ifsm, =@T a, b, ¢,
doedMf3iHE| a b cde3dfHAH
(a) 6 O F R ?
by 2 (a) 6,6,8,6,8,7
(b) 8,6,8, 6,78
e} 1
(e} 6,8,878,6
o (d) 8,6,8,8, 6,7
o 98 TEE e A @ Fp A few omp |5 T TSA A, B 3R C TH wAE-fag & wAw
Emlﬂnﬁﬁﬂ'lﬁﬁﬁm 5p.m.,ﬁp.m.3ﬂ“(?p.m.tf{ilﬁmmﬁﬁ
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108 x 1512 x 2014 x 2211 x 2516 9 afg a1 % de @ft FiF v o e W
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(a) 65
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ol . ip9 (b) 110
(c) 50 fc) 105
) 45 (d 100
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What is the remainder when (17%7 + 19%%) s |4.
divided by 18 ?
{a) B
by 2
icl 1
idy 0
What is the largest value of n such that 10" |5,
divides the product
29233 4B e 5 67w T x 812 x 97

108 x 1512 x 2014 % 2211 x 2515 9
ta) 65
(b} 55
{c) 50
(d) 45
How many pairs (A, B) are possible in the |6.
number 479865AB if the number iz divisible
by 9 and it is given that the last digit of the
number is odd ?
fa) &
ith) 6
() g
dy 11

(3—-A)

Consider the multiplication 999 x abe = def132
in decimal notation, where a, b, ¢, d, e and
are digits. What are the values of a, b, ¢, d, e

and f respectively ?
(a) 6,6,8,6,87
(b) 8,6,8,6,7,8
e} 6,887,886

(d) 8,6,8,8,67

Three cars A, B and C started from a point at
5 pm., 6 pm. and 7 p.m. respectively and
at uniform speeds of 60 km/hr,
80 km/hr and x knmv'hr respectively in the same
direction. If all the three met at another point

travelled

at the same instant during their journey, then

what is the value of x 7

fa) 120
(b} 110
(e} 105
(d) 100

Priya's age was cube of an integral number
(different from 1) four years ago and square of
an integral number after four years. How long
should she wait so that her age becomes
square of a number in the previous year and

cube of a number in the next year ?
{a) 7 years

(b) 12 years

{e} 14 years

{d) - 21 years
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(d)
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X
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ib) ii,fp—q,pqtq
Pa
(c) t%dp—q,p:ﬁq

d) =+ %JEp—q,Zpiq

10. U BEEE § 9 w90 G § 200 B gfg

11.

12,

(4-A)

%1 7 B | A oEEm ¥ we o ae 0
20% <t gfg #1 Il & AR TEEE TEF WU
WA R, 99 FW wEA § wa g9wd § e
aferera agerd g3 ?

(a) 30%
(by 40%
(e) 44%
(d)

48%

Ty 3 BAT v § 3 uw # fauen o gedt
£ | foamer o % foru 21 & anfra & wm
Fdt & | v Y U 8 kev/hr B SR BHT
e 10 ke/hr B | Torerme 9g=- & forg g
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(a) SHkm
(b} 55 km
ic) 6km

{(d} 65 km

g = Fefafaa 4 @ FFa gm, @fie
32,3 X J0FEA B ?

(a}) 0,2
() 0,-2
(@ 1,-1
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7. Which of the following statements is no#
true ?

{a) The difference of two prime numbers,
both greater than 2, is divisible by 2.

(b)  For two different integers m, n and a
prime number p, if p divides the product
m x n, then p divides either m or n.

ic) If a number is of the form 6n-1
(n being a natural number), then it is a
prime number,

(d) There iz only one set of three prime
numbers such that there iz a gap of 2
between two adjacent prime numbers.

8. For = > 0, what is the minimum wvalue of
x+2
-+ g
2x
(a) 1
(b) 2 s
1
(e) 2=
2
id) Cannot be determined
l+px |1-qgx
9. If —— |———= = 1, then what are the
1—-px V1+qgx
non-zero solutions of x ?
o
{a) il || p q,zp;tq
p q
® +—Jp-a.p#q
Pa
) = -E"Jp—q,wq
(d) + %\!Ep-q ,2p =g
DFGT-T-HTM
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10.

11.

12.

(3-A)

In a hostel the rent per room is increased by
20%. If number of rooms in the hostel is also
inereased by 20% and the hostel is always full,
then what is the percentage change in the
total collection at the cash counter 7

(a) 30%
(b)  40%
(c) d44%
(d) 48%

Radha and Hema are neighbours and study in
the same school. Both of them use bicyeles to
go to the school. Radha's speed is 8 km/hr
whereas Hema's speed is 10 km/hr. Hema
takes 9 minutes less than Radha to reach the
school. How far is the school from the locality
of Radha and Hema ?

(a) SHkm

(b} 55km

(e} Bkm

(d) 6:5km |

Which of the following pair of numbers is the

solution of the equation 3**% +3*=10 ?

fa) 0,2
(b) 0,-2
) 1,-1
dy 1,2
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13. 7% e gam @ 6 log,, 2 = 0-3019
log,, 3= 04772 | (108)1° H feret 3ieh & ?
(a} 19
(b) 20
(c) 21
(d) 22
14, 9 ar9rey gEATE & ATHE 100 B | AfE 5
4 weh forelt gufl e & 36 wfus R, @ W
dems § ¥ v g9 B
fa} 17 16.
(b) 29
(c) 43
(d) 39w 4 | g T
; 17.
15. A% a, b 3 ¢ vHS i et 36 VN #
1 198 bl oY
1 23
a+
b+ L
1
C+—
2
TR 7
(a) 1 18.
by 2
(e} 1-33
(d) 233
DFGT-T-HTM (6—A)
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e W (03) gy & forn Prefeftae @ e
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1,00,000 SHEEa g et et § f9 weR

% GHERYS (1, 1T ST 1) Suerey & | 39 I d &
GUETL-YET i qea J1el @il o1 wftea 59 TR R -

FHER-97 FIgH! BT ST

1 10%

I 30%

111 5%

gl 1 3R I 8%

BT 11 31T 111 4%
TR e | 2%

aeft =l (1, 11 3R 1I0) 1%

e Ush G-I TgA aTel 0T sl 56 =
27
(a)
(b)
{c)
(d}

20,000
25,000
30,000
35,000

FHAFH 3 GAERTE H Gg4 del A 6l
e =R 2

{a) 12,000
(b) 13,000
(c) 14,000
(d) 15,000

9 S EE w9 R W 5 i SR §
w18 ft aurERas 777 Ted & 7

(a) 62,000

(b) 64,000

{c) 66,000

{d) 68,000

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

13. It is given that log;; 2 = 0-301 and|Consider the following for the next three (03)
log,, 3 = 0-477. How many digits are there in |items :

(108107 : "
In a certain town of population size 1,00,000
i 3B three types of newspapers (I, II and III) are
available. The percentages of the people in the town
& 20 whao read these papers are as follows :
Proportion of
(@ 21 Newspaper e
I 10%
(d) 22 I S0%
11 5%
Both I and 11 8%
14. The sum of three prime numbers is 100, If one gt end TIT 2
Both T and III 2%
of them exceeds another by 36, then one of the All the three
numbers is (I, IT and III) 1%
ta) 17 ;
16. What is the number of people who read only
7
® 29 one newspaper 7
(a) 20,000
(e} 43 by 25,000
{c) 30,000
id} None of the above
id) 35,000
1B, 1t a, b and c-are positive inbegers suc Nhat 17. What is the number of people who read at
1 16 least two newspapers ?
i = —, then what is the mean of
P YO 23 (a}) 12,000
1
b+ 5 (b} 13,000
b (¢) 14,000
a,bande? (d) 15,000
(a) 1 18. What is the number of people who do net read
By any of these three newspapers ?
' fa) 62,000
(el 1-33 (b} 64,000
(c} 66,000
" .
W20 @) 68,000
DFGT-T-HTM (T—A}
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19.

20.

21.

22.

DFGT-T-HTM
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773 % wHE § g1 T IH TR ?
fa) 1
(b} 3
@ 7

idy 9

o ST o TH YEHR 1 Ush 9AeHs YU #
fF (n? + 48) UH T 91 R | FH TFH F n H
T =R ?

(a) TUeh

(b) &

(c) =

(d)y =

x+2sl"§
x— 242

.
~ B3 ’

HH R ?

& Ei‘ﬂﬁ =]
x—2J3

fay 1
J2

ic) V3
d) 2

(b}

1 HEA x, y 317 2 39 W B TR x, 2 F 30%
2oy, 2 91 40% 8 | 4fE x, y B p% B, Al p
& HE =R ?

(a) 45

(b) 55

fc) 65

dy 75

23.

24,

25.

26.

(8-A)

U faum us gard 9TH % =R AN TR
TERL T TR B | Ueh g9 T R A fame
3 fime &an 2 | uft v fag P& Ama  HwvE W
3 T (¢ + 30) Teve 7L fame % 3EEA Fm
S # | W (4 + x) 9HUE W, faue fag P
dish Feair 3ga1 2 | x Formeh s B 2

(a) 75 TFTE
(h) 90 TS
(c) 105 HHUS
(d) 135 HHUE

@lcﬂfﬁﬁpaﬁtq{aﬁbl},ﬁﬁﬁiﬂﬁﬁ:

w8, % el § frefafas wea w fa=en

Hifsm

1. p 3l q ST A9 HEATL B Hadl 2 |

2. pﬁqﬁﬁ@ﬂ@ﬁﬁmgﬂ

3. p 3 q § F UH AN AN A 9T B
Hehdl B |

I A § FEH H99 GE A 2

(a) hael 1311 2

(b) “heel 2 3R 3

(c) HaeA 13T 3

(d) 1,233

uh w4 100 fFanEf &, G s a9
30 kg & | afz erefral @1 ofted 999 24 ke 2
3R wEH #1 32 ke B, O e H wefRA #
T feet & 2

ta} 25
(hy 26
ey 29
(dy 28

fdi @1 amafas @EwEd o 3 b % oY,
J{a—h}2+\/(h—a}?' Bl

(a) EHI IH

(by ot g A

(c) FTeH® shacdd e a=b

(d) oA 3fz 3K Fas afd a>b
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19. What is the unit place digit in the expansion | 23.
of T8
(a) 1
{b) 3
(e} 7
idy 9
20. BSuppose m is a positive integer such that
(n? + 48) is a perfect square. What is the
number of such n ?
24,
(a} One
(b}  Two
(e}  Three
(d)} Four
4./6
21. For x = , what is the walue of
J2 +43
x + 242 A X + 243 9
x—2J2  x—2J3
(a) 1
25.
(b) 2
() 3
dy 2
22. =x, y and z are three numbers such that x is
30% of z and y is 40% of z. If x is p% of v, then
what is the val fp?
value of p 28,
(a) 45
(b 55
(e} 65
(dy 75
DFGT-T-HTM (9-A)
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A plane is going in circles around an airport.
The plane takes 3 minutes to complete one
round. The angle of elevation of the plane from
a point P on the ground at time t seconds is
equal to that at time (t + 30) seconds. At time
(t + x) seconds, the plane flies vertically above
the point P. What is x equal to ?

(a) 75 seconds

(b} 90 seconds

(e} 105 seconds

(d) 135 seconds

Consider the following statements in respect
of two integers p and g (both > 1) which are
relatively prime :

1. Both p and q may be prime numbers.

2! Both p and g may
numbers.

4 One of p and q may be prime and the
other composite.

Which of the above statements are correct ?
(a) 1and2 only

(b) 2 and 3 only

(e 1and3only

idd 1,2and3

be composite

In a class of 100 students, the average weight
is 30 kg. If the average weight of the girls is
24 kg and that of the boys is 32 kg, then what
is the number of girls in the class ?

{a) 25
(b} 26
fe) 27
(d) 28

For any two real numbers a and b,
Ja-12 + Jib-a)? is

(a) always zero
(b} never zero

(c) positiveonlyifa=zb
(d) positive ifand onlyifa=h
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27, A2 a:b=c:d=1:68,d

28,

29.

30.
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EE+E‘
b2 +d
TR ?

(a)
)]
(c)

(d}

| =

053 +0-53 Topeeh aTE B 7

(a) 1068

(b) 1068

(¢ 1068

dy 1068

srafiet 3N > NP ol Bt &, 5w

N &I 97qv HE&A1 8

N, 2 ¥ gt % wAqel we A
(¢) N,3® a€t uH wIq0} HE &
(d) N,3 % FAEI U gAY &I 8

(a)
()

2

EEFHTFT

Tr=fafiga & 9 =594 v My gen g 7

459049

231
593

(a)

(b)

{c)  0-45454545......

(d) 0-12112211122211112222.......

DFGT-T-HTM

(10-A)

31,

32,

o 3rg % o el ¥ | srerstem feemi W qu
w4 & U v yEs f dEvaw e v

g oo, fefefiaa anoft § gufe o # .
ORI | WPTIT | WP II
7 (kmph) 9 8 75
a9 (fmei A) | 50 80 100
39 uaS 1 afEd i TR 2
(a) 817 kmph
(b) 800 kmph
(e}  7-80 kmph
(d) 7-77 kmph
o & - P __¢ 3 7 FmfaRew
b+e¢ c+a a+b
H § -1 9 TE R 2

(a) T B i1am -1 auat ® |
(b) uﬁﬁﬁa%ml%mél

(c) weiw frm %mﬂ#m%r

@ e fm Faw %—%Hﬁﬂ%r

T 3521 =t 8 @ fawitsa foeen s 2 | e
w22

{(a) 1

by 3

c) 7

d) 9

U FUST eI H T % H W HE X B
T TR F R o XA gsd § 2

fa) 3

b 4

(c) B

d) 6
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27. Ifa:b=c:d=1:86, then what is the value of | 31.
a? 4+ c? 9
b? +d?
1
fa) —
T
1
b o
(b) —
1
% i
(e 5
1
d 2
(d) :
28. What is 0-53 + 053 equal to ? -
(a) 1068
(b) 1068
(c) 1068
id) 1-068
29. The inequality 3% > N? holds when
(a} N is any natural number
{b) N is a natural number greater than 2 33.
{c) N is a natural number greater than 3
(d} N is a natural number except 3
30. Which one of the following is an irrational
number ?
a4.
(a) 59049
231
(e) 0-45454545......
(d) 0-12112211122211112222.......
DFGT-T-HTM {11 =A)
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A race has three parts. The speed and time
required to complete the individual parts for a
runner is displayed on the following chart :

PartI | PartII | Part III
Speed (kmph) 9 8 7-5
Time (minutes} a0 80 100

What is the average speed of this runner 7

{a) 817 kmph
(b}  8-00 kmph
(c) 780 kmph
(d) 777 kmph
ol & A | b = , then which one of

b+e c+a a+b

the following statements is correct ?
(a)
(b)

Each fraction is equal to 1 or =1,

Each fraction is equal to % or 1.
{c) Each fraction is equal to % or —1,

(d) Each fraction is equal to % only.

The number 3521 is divided by 8. What is the
remainder ?

(a) 1
) 3
) 7T
dy 9

A prime number contains the digit X at unit's

place. How many such digits of X are
possible ?

(a) 3

(b) 4

e} b

d) 6
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6.

36.

37.

38.

DFGT-T-HTM
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#f2 vk T W 6% B F TAE 6% WH W
=1 FE, A1 fEEhal i T 6 ifas ur R R
&G 1 59 ol R ?

(a) T 18
(hy ¥ 36
(c) T 42
(dy F50

U W i Hers 12 TEE Hyar 18 ufgensit &
T 14 fe= g 6 = |
16 #fgemd $9 @d &
HEd B ?

26 T

by 24fe7

() 9fe

(d s8fem

(al

Ife 3% =4¥ = 12* B, @l 2 ToFms s 8 7

(a} xy

by =x+y¥

7 .
X+

(d) 4x+3y

Iqf2 (4a + Tb) (4c — 7d) = (4a — Th)(dc + 7d) B,
At frafafiea § @ FRo v od 2 2

=T e

ta)

o

{(b)

Nl oo

(el

B e o

=&

(d)

=P

39. TR fhag > + ax + ) A (x - 1)

41.

42,

(12-A)

FUEl (x + 1) § fgwfsm =0 w vws e
TEAT B | a3 b UH HAM T E 2

(a) 430

(b) 03 3

(¢) 33Wo0

(d) 03 HEg 9 quis

forelt & =1 g w H gUR F 6 HE @ E,
Fafer s 3¢ 1 10 °E H @ w8 |
Ifz 4 g Fee wW W, a9 39 HE w0 @
F # e gy wam 2

342

(b) 3% 15 fme
(¢) 3% 30 fme
3 ue 45 fme

(a)

(d)

2+J2+,,’2+H = O R ?

() 1
b 2
(e) 3
dy 4
T i H, 529 el el 7 we 5y eiR
429 TV H el BT | A% 17% 31 fawl § H
gu, a 2 fawal d fren uftwa whenef o=
O ?

(a) 77

(b) 58

(e} 48

(d) 23
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35. If an article is sold at a gain of 6% instead of a | 39,
loss of 6%, the seller gets ¥ 6 more. What is
the cost price of the article ?
{a) 18
(b} 36
(c) T 42
(d} =50
36. A field can be reaped by 12 men or 18 women 40
in 14 days. In how many days can 8 men and | ~
16 women reap it 7
{a) 26 days
(b) 24 days
{c} 9days
(d) 8days
37. If 3* =4Y = 12% then z is equal to
la) =x=v
i) x+y 41.
€@
X+y
idy  4x + 3y
38. If (4a + 7b) (4e — 7d) = (4a — Th) (de + 7d), then
which one of the following is correct ?
' 42,
a ¢
(a) ===
b d
- a_ ¢
) —==
d b
a d
@ ===
? b ¢
4da ¢
(d) —_—=—
b d
DFGT-T-HTM (13-A)
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Given that the polynomial (x? + ax + b) leaves
the same remainder when divided by (x — 1) or
{x+1). What are the wvalues of a and b
respectively ?

{a) 4dand0
(b}  Oand3
e} 3Sand0
(d)

0 and any integer

Tushar takes 6 hours to complete a piece of

work, while Amar completes the same work in
10 hours. If both of them work together, then
what is the time required to complete the

work ?

ta) 3 hours

th) 3 hours 15 minutes
(c} 3 hours 30 minutes
(d) 3 hours 45 minutes

What is the value of 2 + J2+,|I2+...I',........ by

ta) 1
by 2
el 3
dy 4

In an examination, 52% candidates failed in
English and 42% failed in Mathematics. If
17% failed in both the subjects, then what
percent passed in both the subjects ?

(ay 77
(b) 58
(e) 48
d) 23
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43. us =Afw fmdt are & A g g9, = 3,90,000
i gty v T 59 3md oef, ute =6
si = afE d afer s oor | swy R fen
o & et wmofy v 38 = faedt 2,
Wl ¢ H IFh! o T gAnh faer aifae
AR faet aaufy @ 1 faedt 8, oo W8 =0
Fgdl g ufy et aifew | uet @ fem
fopamr = 2
(@) ¥ 14,000
(b) ¥ 12,000 el
(e} ¥ 10,000
(d) ¥ 9,000

44. 40% TF FHafly =9 1 [T W wh "
gaufy FH-A-%n o oof a9i 4 o @ =
7 et 2
(a) 3
(b) 4
(¢ 5

48,
(d) 6

45, UH =R A T 17,200 F gA0fy F 7 e §
fawfaa ==, 30 5%, 6% 3 9% =it Tramm
wra 6l g W R | @) adl f et
W, 3 gt i+ ot 4 e == s
g | 9% =W W fAaw B g gy e
%? 49,
{a) ¥ 3,200
() ¥ 4,000
ic) 4,800
(d) ¥ 5,000

DFGT-T-HTM (14-A)
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T —ayd _ A8
46. (x—¥y)" +{y—2)" +{z —x) - %?

FX—-—yMy—zl{z—x)

(a) 1
iby 0O
1
( =
c) 3
d) 3

Efﬁax=b}':cz$?ﬂ'b2=3c%_aﬁ;!'_+l
x Z
Tereer st 2 2

(a)

e |

ﬂ'ﬁpﬁq,ﬁ‘vﬂ?ﬁmxz-lﬁx+r:{}%%§
AR p-—q=1%, A rF AT TR 7

{a) BHb

(b} 56

(e} 60

(d) 64

e IR 2—7x+12>ﬂ%m,mﬁ
H -1 U 8l 8 7
fa) B=x<d

(b) “HaF —oo<x<3
(c) Had d<x<om

d) —oecx<3HAYGT 4 cx <=

Download More Papers From GovtJobsAlert.In



43. A man who recently died left a sum of

44.

45,

DFGT-T-HTM
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T 3,90,000 to be divided among his wife, five
sons and four daughters. He directed that
each son should receive 3 times as much as
each daughter and that each

daughter should receive twice as much as

receives
their mother receives. What was the wife’s
ghare ?

{a) ¥ 14,000

(b) ¥ 12,000

{c) ¥ 10,000

(d) ¥ 9,000

What is the least number of complete years
in which a sum of money put out at 40%
annual compound interest will be more than
trebled ?

(a) 3
ib) 4
e 5

d 6

A person divided a sum of T 17,200 into three
parts and invested at 5%, 6% and 9% per
annum simple interest. At the end of two
years, he got the same interest on each part of

money. What is the money invested at 9% ?
(a) ¥ 3,200
ib) ¥ 4,000
(e} 4,800

td) ¥ 5,000

47.

49,

(15-A)

(x-yP +(y-2)2 +(z-x)°
Jx—yly—-z)iz—x)

What is

equal
to ?

(a) 1

(b) 0

1
(el E

(d) 3

If a* = b¥ = ¢ and b? = ac, then what is

l+la|:11;m.ll:4:1'2'
x oz

(a) ¢
¥
M. 1
¥
ey 2
¥
@ -2
¥

If p and q are the roots of the equation
x2—15x +r =0 and p—q =1, then what is the
value of r 7

(a) 55
(b) 56
{e) 60
(d) 64

For the inequation x — 7x + 12 > 0, which one
of the following is correct 7

fa) 3<x<4
(b} —=<x<3only
{c) 4 < x <= only

dl}] —=mex<3ordcx<e
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50. =59 520 090 H] UHEE &
fal 3
by 7
(e} 17
() Iwfe H @ = T
51. A tanx=1,0<x<90°%, d 2 sin x cos x F
HH w8
ta) %
b 1 -
(Ic} g
(d 3
52. sin 46° cos 44° + cos 46° sin 44° T W 1 8 ?
(a) sin2° 56.
(b 0
) -1
(d) 2
53, HHE @IfET 0 < H{%“%,?ﬁmﬂ%%ﬁ,
4 sin? 0 + 1 ToFE@ w127 areen S0 2 7
(a) 2
(by 4sinf
(e} dcosd
(d) 4tan®
DFGT-T-HTM (16-A)
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54, U HAYSHS ABCDEF W fa=m #ifsu | B 3l

C W E e feom & | A#, B foum et &
it =1 3FEA FI7 300 B, AR C W o T S
3fid =T I9TA w450 R | B ¥R ¢ W fom

1 o1 SaETEdl w1 ST R 7
| (a) 1:.438

(b) 1:3

¢ 1:2

d 1:243

tan 1° tan 2° tan 3° ...... tan B9° =1 HH ERH% ?

(al 0
by 1
ey 2
d) =

2l gt nferal #, e el I @ afaw &
3 fom # | weefl welt § 2faor & I osin
AT {31 Ueh Afth qEdl Tefl § S 9Ea 8 @
su qeff o B | feft wme W o ol e
150° g2 & 3 15 fme 7% 20 km/hr 6t 7f
¥ T ] | 36H A% 98 60° WRfT 3R gIan 2
3 20 fiFE 7% 30 km/hr 1 TIfd B =rE E
et § ugw W & | aF el & W H gl
feeeft 2 2

tal 75 km
(b) 105 km
(e} 12:5 km
(d) 15 km
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50. The expression 52" - 29" hag a factor
(a) 3
by 7
e 1V
(d} None of the above
81, If tanx =1, 0 < x < 90° then what is the
value of 2 sin x cos x ?
1
(a) 3
by 1
(e} %
d) 3
52. What is the value of
sin 46° cos 44° + cos 46° sin 44° 7
(a) sin 2°
b} O
o) 1
d) 2
53. Suppose 0 < 6 < 90°, then for every 8,
4sin®0+1 is greater than or equal to
{a) 2
(b 4sin®
{c)  4deosh
{d) 4tan®
DFGT-T-HTM

bd.

b5,

56,

(17 -A)

Consider a regular hexagon ABCDEF. Two
towers are situated at B and C. The angle of
elevation from A to the top of the tower at B is
30%, and the angle of elevation to the top of the
tower at C is 45°. What is the ratio of the
height of towers at B and C ?

(a) 1:43

by 1:3

(c) 1:2

(d 1:243

What is the value of

tan 1° tan 2° tan 3° .......... tan 89° 7
(a) 0

hy 1

{c) 2

(d) oo

There are two parallel streets each directed
North to South. A person in the first street
travelling from South to North wishes to take
the second street which is on his right side. At
some place, he makes a 150° turn to the right
and he travels for 15 minutes at the speed of
20 km/hr. After that he takes a left turn of 60°
and travels for 20 minutes at the speed of
30 kmv/hr in order to meet the second street.
What is the distance between the two streets ?

{a) T-5km

(b) 105 km
(e} 125 km
(d) 15km
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59.
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If2 3tan B =cot 6FE 0B < %%,iﬁnﬁnm
ECIRR
ta)

(b}

()

w|a &ja oA

61.

frafafigs offea smamar e w fo=m
FHifaw

(d)

]

x f
0-10 8
10— 20 12
20— 30 10
30 - 40 P
40 — 50 9

sinZ 25° + sin? 65° %1 A9 F91 & ?

ofe 39t 29 1 AT 252 B, d1 p 1 OAH F4
??

(a)
(hl
(c)
(d)

0

1
2
4

sin® B + cos® 0 + 3 sin® 0 cos® 8 — 1 & HH F
27
(a)
i(h)

(el
(d)

T R R

ardfas wEmsl o, B,y M 5 F faw,
fr=fafas w fa=m Hifew .

sec o = 1/4

tan p = 20

t:nseﬂ'f=1f2

oW

. cosd=2

37w # § fora fomao wwa 787 8 2
(a) Tk "\ -

(b) @

(¢c) ®M

(d) =R

(18-A)

62,

(a) 9

(b) 10

) 11

d) - 12

Frfafaa arema 9eq w famm Fifa
X r
8 6
5 4
G ]
10 8
9 9
4 6
7 4

34 w2 i mifeas #4918 7

tal &

by 7

e 8

d 9
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57. If 3tan 0 =cot® where 0<0< g then what
ig the value of 8 7
b5
{al E
b kL]
(b} 1
m
{e) —
“ 3
m
id) 5
58. What is the value of sin® 25° + sin? 65° 7
fa) O
iby 1
(e 2
id) 4
59. What is the value of
sin® 0 + cosB0 + 3sin®0cos®0-17
a) 0O
by 1
ey 2
d)y 4
60. Consider the following for real numbers a, B, v
and & ;
1. sec o= 1/4
2. tan f = 20
8. cosec y = 1/2
4, cos =2
How many of the above statements are
not possible ?
{a) One
(b)) Two
(el Three
id) Four
DFGT-T-HTM

(19-A)

Consider the following grouped frequency
distribution ;

X f
0-10 8
10 - 20 12
20 - 30 10
30 — 40 p
40 — 50

If the mean of the above data is 252, then
what is the value of p ?

(a) 9

(b) 10
ey 11
d) 12

Consider the following frequency distribution :

X f
8 6
5 +
6 5
10 8
9 9

6
7 4

What is the median for the distribution ?

(al 6
by 7
(e} 8
d> 9
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63.

65.

66.

DFGT-T-HTM
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50 SHHTT 9 iRl 1 3ftEeE x B | 9 o
=W v quiteRi =1 ot snfire s fomn s, | S
FHtEa (mred) &= 8 2

(a) x+1

(h) x+2
c) x+4

(d)  x+(x/54)

21 3Rl arelt T gemst w fGEw Hifw S

I S W I 9ge 21w oft, 3@ & =i
1

wdl £ | 3 usn 1 g1 3R 1 G
aftea # 2 7

(a) 33
(b) 44
{c) &b
(d) 66

7d * s fregn ¥ frafafas @ @ e
wfefera a@ & 2

1. Y9 AiE (I 2rRum)

2.  gAnNE (TS-=rEam)

3. foefm s (foeemm)

= B v e w1 wEm = wE I g

(a) ehae 13N 2

(b) Haw 230 3

(c) “had 1313

(d) 1,233

frafafias 4 @ 9 s fafa o wwha o
e sifes, Wl w727 A 8 2

(a) WeaE AR HEATCHRI G

(b) IYeHE SATHT HIEATHR grl

(¢) TOHTERRI o WIEAH | Wil 7§ gfeEi g
(d) SERIfSTE wiY-g=Y &

67.

(20-A)

s SAfE 1 WIS = T 6,000 2 | fafim wal

T 19 T wed e 2
= #1 72 e (e &)
1. @ 2,000
2. I 660
3. 3499 3 fema 1,200
4. foem 480
5. fafaa 1,660

gfe 39w sAiHSi F 15 cm FUE F TH
yfgmaar =9 sma o el fF s, q
foren offr fafay A mafus w@w wa & 26
Wl hi FrETEaT s W B 2

(a) 1:25cm 3 5em
(b) 12 em 3T 415 em
{e) 1-2 cm 31 35 cm

(d) 415 cm 3 6 cm

ﬂﬁnﬁﬂ“ﬁﬁﬁmﬁ&l’“ﬁﬂﬂmﬁlnﬁaﬂ(ﬁﬂ
Yo7l T WY m 2, @ Tft o Va5 Aren =,
B?

ta)  2m-— . 1

(by 2Zm + =

fe) m-—- —
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65.

66.

DFEGT-T-HTM
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The average of 50 consecutive natural|67.
numbers is x, What will be the new average
when the next four natural numbers are also
included ?
fa) x+1
(b} =x+2
(el x+4
(d)  x+(x/54)
Consider two-digit numbers which remain the
same when the digits interchange their
positions, What is the average of such
two-digit numbers ?
(a) 33
(b) 44
(c} Bb
(d) 66
Diagrammatic representation of data includes
which of the following ?
1. Bar diagram
2. Pie-diagram
3. Pictogram
Select the correct answer using the code given
below : 6e.
(a) 1and 2only
(b) 2 and 3 only
{e)  1land3only
id} 1,2and3
The data collected from which one of the
following methods is net a primary data ?
fa} By direct personal interviews
(b) By indirect personal interviews
{c) By schedules sent through enumerators
id) From published thesis

(21-A)

The monthly expenditure of a person is
F 6,000,
various items is as follows :

The distribution of expenditure on

Item of expenditure Amount (in )

1. Food 2,000
& Clothing G660
3. Fuel and rent 1,200
4, Education 480
5. Mizeellaneous . 1,660

If the above data is represented by a
percentage bar diagram of height 15 em, then
what are the lengths of the two segments of
the bar diagram corresponding to education
and miscellaneous respectively ?

{fa) 125 cm and 5 cm

(b)Y 12cmand 416 em
(e} 1:2em and 3-5 em
{(d) 415 cm and 6 cm

If the mean of m observations out of
n observations is n and the mean of remaining
chservations is m, then what is the mean of all
n observations ?

2

(a) 2m-2
n

2
(b) 2m+ ——
mn

2

(el m—m—
n

2

(d) m+m—
n
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69. faffigs § @ w9 = 3w & &9 ¥
gifed 8 7
(a) wTfET=R ~ e feafa
(b) HIER - et feafa
() TUINRETEN —  HAEE
(d) ®EeTh ~ e
70, Tr=foafes gm ve omaa = F SrEwar "
3N IWF AnERaT FgYs d wafed # O
frafafiga @ & =H@ & g9 wd w9 1
gufee 77 2 7
(a) YA I ER T@ - X9
(b) WEYw W i A - T AR
wifeat
(c) WEYH & ¥l % Y9 - aTEwa @ed %
1 3w (FE
T )
(d) W8NS W EFHA - Hed I Fd
TREARAT
71. UH AW U, FEmE 5! wieE 6l @9 8 |
qfE e &1 T T =SEE HE: 30% I
10% =@ @ =i, a1 =& 9N fean ==
T ?
40
{a] ?%
(b)  20%
(e) 25%
d) 27%
DFGT-T-HTM

T2,

3.

T4.

5.

(22—-A)

ofy fomft By < uede o = e w
A, d IEF EEed ¥ Feed wfavm & A
St 7

la) T5%
{b) BO%
(c) 25%
(d) IS qitE= &

U MR el H HAFGA 700% @@ fGm
ST R | SR U 9% § wfavmd i
fepertt & 2

(a) 300%

(b)  400%

(c)  450%

(d)  500%

IfE 10 em B O v gw A § wEERR
el sl FFEEal 12 em 3 16 em B, @ A
&1 Sfrare & o= 6 gt e 2 2

(a) 1cm JAYET 7 em

(b) 2cm #AYST 14 em
() 3em JAYET 21 em
(d) 4 cm 3JYET 28 cm

‘a’ Yol 9T U a1 % of @@ ol R oEeg
TS, 1 g =99 T % e 3@ Ten @
m ¥ R A = g ofist =+ dired €, iR oa
Tl 590 & | S ST Al W Hafes Sk
fraar & 2

2 1
(a) a“(m+ 2)

1

b 2ip_ =
(by a“(n 2}
-

{cl a{2 |

(d) agl.f% +1)
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69. Which one of the following pairs is correctly | 72,
matched ?
tal Median —  Graphical location
b)) Mean —  Graphical location
(c)  Geometric mean — Ogive
(d) Mode - Ogive
73.
70. The following pairs relate to frequency
distribution of a discrete variable and its
frequency polygon. Which one of the following
pairs 15 not correctly matched ?
{a) Baselineofthe — X-axis
polygon
74.
{b} Ordinates of the — Class frequencies
vertices of the
polygon
{e)  Abscissa of the — Class marks of the
vertices of the frequency
polygon distribution
(d) Area of the — Total frequency
polygon of the distribution
75.
71. In a rectangle, length is three times its
breadth. If the length and the breadth of the
rectangle are increased by 30% and 10%
respectively, then its perimeter increases hy
40
tal —
W B
(hl  20%
(c} 25%
dy 27%
DFGT-T-HTM (23-A)
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What is the percentage decrease in the area of
a triangle if its each side is halved ?

{a) T5%
(b)  50%
(e 25%
id) No change

The volume of a spherical balloon is increased
by T00%. What i= the percentage increase in
its surface area ?

(a) 300G
(b) 400%
{c) 450%
(d)  500%

If the lengths of two parallel chords in a circle
of radius 10 em are 12 ecm and 16 em, then

what is the distance between these two
chords ?

{a) lemor7cem

b}  Zemor 14 em

{c)  Jemor 21 em

{d) 4 ecmor 28 em

Considering two opposite vertices of a square
of sid-?, ‘a’ as centres, two circular arcs are
drawn within the square joining the other two
vertices, thus forming two sectors. What is the
common area in these two sectors ?

1

(a) a%(m+ =)
il

1

b a(zx-=)
=g

ic) 32{E -1}
2

@ a%(Z+1)

2
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76.

77,

T8.

79.

DFGT-T-HTM
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‘@' YA 91 UF @ & HE B I THR FA
T & f6 U oW ST &A1 8 | RS 6
U Y H oears et @ 2

a (42 -1)
a(43-1)

(a)

(b}

a

(e}
& -..-'E+2

(d}

eo |

@ suTE o dEd s gwev fyw A
gl gatdt & | 38 a@ H A9 wara o
gEel % fhad 9= 99 B 9% 8 7

(a) “Hae TH

(b) “hael &l

(¢) “had o

(d) ad: 3

v # fag # Fg wEeE @
B2 99 I 9T 44 em B 3 72

B¢ g9 *I TRy F g 2 | @ IR g9 F
e 1 gawa R 8 2

(a)
(b)
(c) 462 cm?
id)

154 cm?
308 cm?

616 cm?

TS 6 ft x 12 ft JTHR & AIATHN AT HidE o
6 59 <12t TR S T < die 9gl 2 | TRt e
T 1 H91 9t = S A 2 7

(a) 9@ Fe

(b) 151 e
(¢) 17a F2
(d) 18 Fe

80. U W s F1 ufea seehl weE S e

81,

(24-A)

F kTR | AR I g W w0 & w™
AU 4: 52, @ kW FR 2

a) 2
(b) 3
e} 4

(dy 5

UH 12 m T a7 % g ghe feu u E, ¢ A
TF I UF 9 5 9§ HIg @0 2 i gE
T T ok ¥ A, A H UEg A BC A
SR | g W e R 2

12

{a)
w44

b}

(c)

(d)

n+ 242

UHBYEHE R 1.1 4 F U d # | aR
faga 1 o ol wad ad yan A ko
B, A kH AR FER?

fal 1+

(b) 1-

Sl &l

(eh 2+

AR

d) 2
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77.

78.

79,
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The corners of a square of side ‘a’ are cut away
so as to form a regular octagon. What is the
side of the octagon ?

a(y2-1)
a(v3-1)

{al

(b)

Three consecutive integers form the lengths of
a right-angled triangle. How many sets of such
three consecutive integers is/are possible ?

ia)  Only one
(b}  Only two
ic)  Only three

id) Infinitely many

Two circles are drawn with the same centre.
The circumference of the smaller cirele is
44 em and that of the bigger circle is double
the smaller one. What is the area between
these two circles ?

(a)
(b)
(e)
(d)

154 square cm
308 square cm
462 square cm

616 square cm

A rectangular red carpet of size 6 ft < 12 fi has
a dark red border 6 inches wide. What is the
area of the dark red border ?

(a)
(b}
(e
id)

9 square feet
15 square feet
17 square feet

18 square feet

80.

81.

82,

(25-A)

The perimeter of a right-angled triangle is
k times the shortest side. If the ratio of the
other side to hypotenuse is 4 : 5, then what is
the value of k 7

(a) 2
by 3
(cy 4
id) 5

A 12 m long wire is cut into two pieces, one of
which is bent into a circle and the other into a
square enclosing the circle. What is the radius
of the cirele 7

{al 8
w44

(h) L
nt+4

3
e T+4d
id) 6

r|:+2\|"§

The angles of a triangle are in the ratio
1:1: 4 If the perimeter of the triangle is
k times its largest side, then what is the value
of k ?

2
a) 1+ —

V3

2
(b)) 1=—

V3

2
e} 2+ —

3
d)y 2
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83. UH HAH YT N F 10em B A I@E

8Ehe 24 cm? B | AR SEht B g w s
3t w2t wen A g w fem s &, A

=i feren 2 9 R 7
(a) 245 em
(b) /255 cm
J265 em

V275 em

(e)

(d)

8 em T a6l v g9 #, AB 3ft AC 9 SfiaTd
39 g1 & 6 AB = AC = 12 cm & | Sff&T BC
& wrand feadt 2 2

z_u,rg cm

3.6 e¢m

(a)
(b}
347 em
67 em

{c)

(d}

. fafafas w9 w e Fifso .

1. U HHfEETR FHES gHT SR A |

9.  #i ot Wl wuia Fqds U sa @
2|

86.

87.

U HEg UH S AR % gel @9 B 6
At sEH q AN H 25 m | R | IR 7w
AR T 08 m A9 F AR wF A R, @
AT aell SER F 144 m 3R Al g a
# | ot it T et 2 0

(a} 62m

(b} 65m
(c) 6:8m

(d 75m
1 T g9 UG 1 56 YHR ufd=ee i 8
5 3 & oo 99 @ 99 F F% W A
T # | g gF ge f wdfiss sfar &
TS 1043 em #, A1 g7 F1 == A 2 2

fa) 10cm

(b)  15em

{e) - 20em

(d) “-:.'ﬁcm

fr=fafaa weA1 w fa=m i .

1. W ey fags 8@ et @il W
HEA aTel gl i e 3 # |

2. Tt 99 & &g @ve (Fe) | &9 9
I = FHI0 BT R

et i S 3 2 B o A 2

(a) “had 1 G5 e

(b) Fa 2 (b) e 2

(¢) 13 2gH () 13 23]

(d) 1,782 (d AW 1L,AH2
DFGT-T-HTM (26-A)
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83. The hypotenuse of a right-angled triangle is |86.
10 em and its area is 24 cm? If the shorter
side is halved and the longer side is doubled,
the new hypotenuse becomes
(a) 245 em
(b) /255 cm
(¢) 265 cm
(d) 275 em

B7.

84. In a circle of radius 8 cm, AB and AC are two
chords such that AB = AC = 12 em. What is
the length of chord BC ?

(@ 2V6 em

(b) 346 em

(e) 347 em

(d) 647 em

88.

85. Consider the following statements :

1.  An isosceles trapezium is always cyclic.

2. Any cyclic parallelogram is a rectangle.

Which of the above statements igfare correct ?

ia) 1only

(b) 2 only

{c) Bothland2

{d) Neither 1 nor 2
DFGT-T-HTM (27-A)
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A ladder is resting against a vertical wall and
its bottom is 2-5 m away from the wall. If it
slips 0-8 m down the wall, then its bottom will
move away from the wall by 1'4 m. What is

the length of the ladder ?
(a) 62m
(b} 65m
ic) BB8m
idy  765m

Two equal circles intersect such that each
passes through the centre of the other. If the
length of the common chord of the circles is
1043 cm, then what is the diameter of the

circle ?

fa) 10c¢m
(b} 15 cm
fe)  20ecm
(d)  30cm

Consider the following statements :

1. The number of circles that ean be drawn
through three non-collinear points is
infinity.

2. Angle formed in minor segment of a
circle is acute,

Which of the above statements is/are correct 7

{al 1 only

(b) 2 only

(e}  Both1and2

(d} Neither 1 nor 2
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srafaemran o fa=an fifa .

1. AC-AB<BC
2. BC-AC<AB

3. AB-BC<AC
Iudeh #f § HH-9 HEE 2
(a) hae 1 3R 2

(b) A 2 3R 3

(e) “had 1 3R 3

(d 1,2 3R3

fFr=ferfiaa wuE w fmm Hifa .

1. Toret w1 afimm sgeht @ arfermE
(dfifem) & e & = Bl 2 |

2. it s ABC #, afg BC m #1E fag D
8, A AB+BC +CA>2ADEET 2 |

I § & FA-EA FH G 2R 7
(a) *hed 1

(b) e 2

(¢) 13 23

(d) TdT1,FHE2
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ST 3T AT A (03) wyAT9n o fere Feeferfam w
farem Hifsm

s u9 et Tt & A@ia B | 99 & 35 TS
de-geia dwd 8 St 30 gt Feaiar el w e
F | Ao % AL Th SE-gHiE Tg 2 | IR
Fargal vy € o v & =AW g + AW %
R

91. A % IEAA I P & G d T FIH

2?7

(a) 643 :1
by 7:2
() 843 :1
@ 548 :1

92. T % A W AW & A & 1 I
27
{a) 4:3
(b) 21:16
© 14:11
(d) 45:32

93. Tfefas wuai o faem Fifvw
1. T W U #E%d, W % d T
Ba%e 1 6 T |

2. A I Y HA%A, deH & aH IR
Ba%el o aUa 2 |

I # | FE-AVE HYA 98 28 ?

(a) wad 1

(b) HaE 2

(¢) 13 2zl

(d) T 1,982

(28-A)
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89. Consider the following inequalities in respect

of any triangle ABC :

1. AC-AB<BC

2, BC-AC < AB

3. AB-BC<AC

Which of the above are correct ? 91.

(a) 1and2only

(b} 2and 3 only

(e} 1and3only

(d} 1,2and3

92,

90. Consider the following statements :

1.  The perimeter of a triangle is greater

than the sum of its three medians, 93,
2. In any triangle ABC, if D is any point on
BC, then AB + BC + CA = 2AD.

Which of the above statements is/are correct ?

ia) 1only

th) 2 only

{e) Both1land2

(d}  Neither 1 nor 2
DFGT-T-HTM (20-A)
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Consider the following for the next three (03)
items ;

A cube is inscribed in a sphere. A right

cireular cylinder is within the cube touching all the
vertical faces. A right circular cone is inside the
cylinder. Their heights are same and the diameter of
the cone is equal to that of the cylinder.

What is the ratio of the volume of the sphere
to that of the cone ?

(a) 643 :1
by T2

(€} 8438 :1
d) 543 :1

What is the ratio of the volume of the cube to
that of the cylinder ?

(a) 4:3

(b) 21:16
(e} 14:11
(d) 45:32

Consider the following statements :

T The surface area of the sphere is
V5 times the curved surface area of the

cone,

2.  The surface area of the cube is equal to
the curved surface area of the cylinder.

Which of the above statements is/are correct ?
(a)
(b} 2 only

1 only

ic) Both1land?2

{d) Neither 1 nor 2
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HATH 31T =T 719 (03) TN o ferg Faferias w
ﬁwﬁﬁm:

ABCD UF =g¥w 2 f&d AB = 9 cm,
BC = 40 em, CD = 28 em, DA = 15 cm 3R &M ABC
T THHI B |

94, Bgw ADC 1 &FFA A & 7
(a) 126 em?
(b) 124 cm?
() 122 em?
(d) 120 em?
95. =ad¥ ABCD % &% foka1 2
(a) 300 cm?
(b) 306 cm®
() 312 cm?
(d) 316 cm?
96. Y= ABC % witmg 3fit s ADC % wfmmg &
= fome 3t 2 9
{a) 4cm
(b} SHem
(e} Bem
(d) Tem

AT HATH =T 3 (02) T & e Fefefeaa w
ﬁ'ﬂ'ﬂﬁlﬁl’l’ﬂ[:

wh wHeTE e ABC, 2043 cm # = @@
T g9 % A 7 |

97. Torqe <t yon i @ETE =R 2
{a) 30cm
(b} 40cm
{(¢) BHO0em
(d) 60cm
DFGT-T-HTM {30 -

98. figs ABC *1 %, i A Hd gl W R |
d Terer = B 7

(al 15 em

(b} 20cm

e} 20 V3 em

(d) 3043 cm

T AT =T ar (02) ToATI o e Fafafeae w
f‘ﬂmﬁﬁm:

UH SEHIE GUR YIhAE # o, =ien
st S=r€ & TEE 22 om 2 3N I el i
wvaTs 14em B |

99. wEHINE GG SCHEH B THE TR
fopam 8 2

(a) 288 cm?

(b) 216 em®

(¢) 144 cm?

(d) g ga & FwHw Faifa T8 e e
ehal

100. 7t wEwifties oI SChese i famied
(faeam) % =i (@) &1 9rrEe S, HI IHH

Hre VR, d (S — 3V) s seR 8 7
(a) 572 cm®
(b) 728 em?

1144 em?

I § ® wIE A6l

tel

(d}

A)
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Consider the following for the next three (03)
items :

ABCD is a quadrilateral with AB=9 cm,
BC = 40 cm, CD = 28 cm, DA = 15 ¢m and angle
ABC is a right-angle,

94. What is the area of triangle ADC ?

(a) 126 cm?
(b) 124 em?
(e) 122 em?
(d) 120 cm?
95. What is the area of quadrilateral ABCD ?
(a} 300 cm?
(b) 306 cm?
(e) 312cm?
(d) 316 cm?

96. What is the difference between perimeter of
triangle ABC and perimeter of triangle ADC ?
fal 4cm
(h)  5cm
{e}) 6Gcem
(dl Tem

Consider the following for the next two (02)
items :

An equilateral triangle ABC is inseribed in a
circle of radius 2043 cm.

97. What is the length of the side of the triangle ?
fal  30cm
(b} 40 em
(c) S50em
id} 60em
DFGT-T-HTM

The centroid of the triangle ABC is at a
distance d from the vertex A, What iz d equal
to ?

(a)
(b}

15 cm

20 em

(c) 2043 cm

(d) 303 em

Consider the following for the next two (02)
items :

The sum of length, breadth and height of a
cuboid is 22 cm and the length of its diagonal is
14 cm.

99. What is the surface area of the cuboid ?
(a) 288 em?
(b} 216 em?
(c) 144 em?
(d}) Cannot be determined due to
insufficient data
100, If S is the sum of the cubes of the dimensions

of the cuboid and V is its volume, then what is
(8 -3V) equal to ?

(a) 572 cm?

(b) 728 ¢m?

(c) 1144 cm?

id) None of the above

(31-A)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DFGT-T-HTM Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100
S e e
INSTRUCTIONS
1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT

4.

9.
10.

THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet,

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will seleet the response which you want to mark
on the Answer Sheet. In case yvou feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided, See directions
in the Answer Sheet.

All items carry equal marks,

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator enly the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
ORBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given by the eandidate, one-third (0-33) of the marks assigned to that question will be
deducted as penalty,

(ii}  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be eorrect and there will be same penalty as above to that question.

(iii)y  If a guestion is left blank, ie., no answer is given by the candidate, there will be no penalty for that
gquestion.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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